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Part-f

(a"t{ \q(.t

L. What is Plasmid ?

atqfi-s ftt

(Botany)

s BGr G-E'r{)

1

2. Name the piant body where bisexual and both unisexual malc antl female

flowers are present. 1

ffirt "1",i, c+frrfi "I( Pr q+ $ "i-t ur+ret"ttts afifuE (slq Efrqr fr

ift r+t<l s{?

3. Write full form of VAM.

,.VAM,,_< {-eiqkq GI I

Who proposed Mutation theorY ?

tsqifud {qdt GFlra qtn<-rRfu?

What is biogas ?

?wroiE frt

1+1:2
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6. Name fzoo antibiotics produced from fungi.

rck+< "m er€E GI fFveffic ^-E fi"ltr

l2)

2



7. How is DNA isoiated in purified form from a bacterial cell ? z

{il C<liqTl C$I{<,i<t DNA Csrdr "rR+rc_ m W r

Or / q44l

What is recombinant DNA ? List thc tools of Genetic Engineering. 2

fi<'r@ DNA ft r &frs q&{qqs <<qs qfuj qqq< st6-+t fr*rl

8. What is triple fusion ? Name the nuclei involved in the process. 1+'t:2

fr'qic*d sFF Frrtr? €E gk"rlu q .&s mrvcg qp< au fi'<'tt

Or / w44t

What is meant by polyembryony in angiosperm ? Write its importance.

1+1,=2

egftq E&< <€qsf fi6 fr lgr z ?rr< e<v fr{ir

9. What is totipotency of the cell ? Write its importance in Plant science.

1,+1,=2

Contd.

cslT< 'F:IEsngl sfs FriF? EitF fiEin-s ?nt< s+V ftr
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2+2=410. Expiain briefly : (anY tuto)

E*s fr{i , 6ft616qt frt)

O Gene Gun

fu<p

(iil Gene Cloning.

&a rFi t

11. Write the scientific names with their utilities of the following plants: r

(any tfuee) (t12+r/2)x!=!

g-qg frri efrq qr$ ?<G'lF-s {N qK' frqs< <J'€-< fuit ' rfutrqt frffiD

(n Tobacco

{"11s

dn 'Iulsi

YEfr

Ait Jute

T{i"llt

(it) Coffee

Tfu
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12. How do biofertilizers enrich the fertility of the soil ?

fr< ,i,ls rtB< Ei<gr' 6odo ffi +mr

Describe thi: process clf rJevelopment of female gametophyte in Angiosperm

with suitable diagrar^r. 3

2

13.

E{1e f;srq $e+s? Bfo< ffi<u,*i-< E-q< kfl\ "iafu frl\ r

Or / wqlal

Explain any tlvee outbreeding devices that flower influence the plants have

developetl to cncourage cross-pollination. 3

&< "i-{ifiRi5Js Eqnfu sRtE {"I'q$ EGqs ffiiE A<i r?rqz+&60 <Raenq

6rrq <qdr GIr

1,4. Write briefly on Modern Svnthetic Theory of Evolution.

ffi qi{F-s rrcnfi\s'wE ffi f,+r

Or / q4at

Describe the factors involved in the process of organic evolution.

tq< fua d&mv sr&s +l<+ q)l{< Rre{ <.14t mr't

4
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15. Define Biotecl'rnology. Write briefly' on the main aims of biotechnology.

'1+4=5

Tiffi q< fisra<,rigl frrit +lffi A< Rsn< {E qtl aqq ulto 1o=attt

Or / qalqy

Write an accoullt on biotechnological application in meclicine. 5

ffiqqr fis6s n'ffi fi< Re.ra< et-tl'ri i-?r* eE <fr.r ft{tt

v-



Part-II (Zoology)

(frftsq<'t 3 ertftFsen)

1. Fill in the blanks : (any two) 
'7x2=2

{rfi 5E "FI $<r' z (fi7q161Vfi11

(n) The main function of interstitial ce11s of seminifcrous tubules

is 

-.
$es:F {fi'ot<l<< <tRs c"fl<t qgSo'Y romr<r<< g$a on qh' 

- 

I

(b) proposed that nuclci are the bearers of herirlitary characters.

_ c{ ffi{5qgrd6s <i"iri& DRs cT< <tqs gfr fsful

(c) The AUG codon is called

AUG q(rsE$ 1E Co-<i < t

(d) Flephantiasis is caused by --.

iltrr< $ft-< q-{ (ril( ffifi qr

@ Greenhouse effect is mainly cauSed due to 
--.'--.

6tvs; 21 lgFK 3{td u<+ |

2. Answer anY two :

frcotzrrt 6Fr<Vw< fun z

(a) What is 'TemPlate strand' ?

=* 1EF'frr
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(t) Define Test cross.

ex.ifr xNGi< qig] fri,T r

@ 14{rat is the function of mitochondria in a sperm ?

se]t\5 TREffi$i< flr frr

(d) What are 'Transgenic Anirnals' ?

mf,s fi<w--s frr

3. Answer any four:

ftrctrqt FIFAFEE< fr*n a

(tt) What is Menstrual cycle ? 144rich hormones control the menskual

cycle ?

{qBE-e frp fr qfo {qffiF fix-qq nmr

(b) What is Point mutation ? Give one example.

fr1Bs"rR-<6;r frr .?EBar<q fixir

(c) What is Adaptive radiation ? Give one example.

\{-$-fr frftr,.i frr qEU'AE<"i fri-T.t
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(cl) Define Ecological pvramid with one example'

tshercE 6'Rrf;q-< qiwi Giir eilEn<q firit

@ Define Endemism. Give one example of endemic animal of Assam'

Ef;-$sx qqgr fiTr'l qqx< ei?v ER-s qlft< tqiE<q firi r

(f) what do you mean by replication ? Define semiconservative DNA

' 
replication.

@)

k)

2x2=4

. e&.fe<K"i {arE ft w'il q6ri<fts DNA E&Ifrffi'K qiBt fr$ r

4. Write the differences between: (any two)

"nqi+l ftcII e (ffi ?8't)

(n) i{omozygous and Heterozygous

mTPr \sR'fi<xT'ft

Linkage and Recombination

{€A-sl'qK. ejffiq(CTiqd'

AneuploidY and PolYPloidY

q.'finsqEl ql+ <-q'eqvi

(d) Yaccination and Immunisation'

@mq q+ qqrc"t:tr<Gil
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Draw a labelled diagram of T.S. of ovary.

eqll'{ eqRq< 6q qifr 6Ro mtr

or / w4qt

Draw a labellec1 rJiagram of doubie hericar structure of DNA.

kt*f,F DNA at-d< 8s viifr FRo mir

What are the sexually transmitted rliseases ? Merltion the various causes

1+2:3

friut qiuiRtr ffit,f <r- ffiamrrr q{q fr? q? crE q{< R&R srccr q{qtsr*.< <xr r

or / qqEY

Mention the effects of drugs and alcohols.

grtiRqr+ 613 qfta1aq fuTT{Ernx'Gr'r

Write the salient features of Human Genome.

rra-< &q\1 a{F f-<m q{q fr{ r

Or / qe1'qt

Write the various reasons of the loss of Biodiversity.

ffi<Bq Ku3r sr<"i l:RBm< qrr

J

J

of these diseases.

3

37.

3
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8. Describe the structure and functions of Ecosystem. 5

qRRE'r-C< ata ofls ftn-<'f <fi $q'l

Or / qeYay

f)escribe the regulation of gene exPression in bacterial cell. 5

K,6fui cslds &a eroi"r< frT$"i gfut"Ft <qfu mt r

9. Describe the various chromosomal disorders.

ReF eq.g',fi{ k'iitr& q{q <6.t Gl I

Or / qqa'1

Describe about the Pedigree analysis. c

<rir{ft ?tr1s Rm<q "EB6r <6frf GI I

x-
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